(DCM21)
ASSIGNMENT-1
M.Com. DEGREE EXAMINATION, JUNE 2022

Second Year

INTERNATIONAL BUSINESS
MAXIMUM MARKS :30

ANSWER ALL QUESTIONS

1. (a) Advantages of IB.
@OBTAAD TS0 (SBICETeD.
(b) International production.
©OBTAAD &H)d.
(¢) Terms of trade.

égé D200V,

(d) Host countries.
&8 DBV
(e) Multinational corporate culture.
208 &0 °EBeS 50, )8
(H LDCs.
LDCe».
(g) Bilateral agreement.

Q588 anodso.

2. Explain strategic considerations in strategic management.

g DEGETEIS® Ko Trgrens SBResnRd Bogydu.

3. Explain briefly regional trade blocks.
[0S0 HSE 2L HI0M DHBOHH.



(DCM21)
ASSIGNMENT-2
M.Com. DEGREE EXAMINATION, JUNE 2022

Second Year

INTERNATIONAL BUSINESS
MAXIMUM MARKS :30

ANSWER ALL QUESTIONS

1. Explain factors influencing international logistics management.

OBHTAAD E°er DYGTEIR (HFPIBO W STV DHBOHIN.

2. Explain Negotiation process with respect to MNCs.
MNCo0 5020809 J0[580H© K805 HBoPHIN.

3. What are the modes of International Business?

OBHTAAD TR0 BY); 85°B?

4. Bring out the planning process in MNC.
MNCo&® [S5e98 S80m0 K78y Begydon.

5. What is the role of international organization in business negotiations?
TS DOHR0HOS” WOBTHOLD e D32

6. Examine the need of regional trade in
co-operation among countries.

[ATA0) plaly [BrodaH JBE IT5°8 e3:58gEB0 DEBEBOIHI0.




(b)

©

(d)

(e)

®

(g

(b)

ASSIGNMENT-1

M.Com. DEGREE EXAMINATION, JUNE 2022

Second Year

MANAGEMENT OF INFORMATION SYSTEMS
MAXIMUM MARKS :30

ANSWER ALL QUESTIONS

Individual decisions.

558108 DgasTen.

Top-down design.

8- 18058 5I.

Mode of transmission.
[ETPDOID G B8.
DBMS selection criteria.

DBMS Qoo Qo @daooen.

System software.
DY FGIB.
IRM.

IRM.

MAN.

MAN.

Decision Marketing.

GAJ® D2°8)630R.

2. Write about the evolution of information system.

SETTE B89 o), YT K78 Faod.

3. Describe the phases in system design.

P GPIORES® ¢S50 G0y

(DCM22)



(DCM22)
ASSIGNMENT-2
M.Com. DEGREE EXAMINATION, JUNE 2022

Second Year

MANAGEMENT OF INFORMATION SYSTEMS
MAXIMUM MARKS :30

ANSWER ALL QUESTIONS

Explain communication concepts in detail.

@008 GRIPI TH0OR K8 DSBOHH.

Explain types of switching.

AIION FsPoRn EBEBOWD.

. Describe the process of information resource assessment.

$HTPTEH00S” B85y VD0 [DFVR HBYOW[0.

Explain the overview of system analysis and design levels.

DR JBAED 2B HdoT FRCVS L9850 K8y Eraod.

. Give overview of computer networks.

5050 3e598),S° L08Ry K08y 2:HdEBoYHW.

Explain importance of MIS.
MIS G0¥); (55800 D580)0.




(DCM 23)
ASSIGNMENT-1
M.Com. DEGREE EXAMINATION, JUNE 2022

Second Year
ACCOUNTING : ADVANCED FINANCIAL ACCOUNTING
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. (a) Financial statements.

28 IDBE.

(b) Yield method.
optAled DES.

(¢) Interest of minority share holders.
&) J0PE T es8,

(d) External reconstructions.
Yool DG Ea.

(e) Need for goodwill valuation.
&S oo esSEEs.

() Legal provisions.
Féoiﬁééé bU"O)eJ;?.

(g) Social balance sheet.
PDITEE es-edpe D¢

(h) Published accounts.
20088 @9F7,06).

2. Explain merits and demerits of ratio analysis.

DYHBOO g)écﬁea DOD PO DHBOYHDL.

3. What are the factors influencing valuation of shares?

o0 0B0NHS® 5B D SEeTeL DD?



(DCM 23)
ASSIGNMENT-2
M.Com. DEGREE EXAMINATION, JUNE 2022

Second Year
ACCOUNTING : ADVANCED FINANCIAL ACCOUNTING
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. From the following calculate goodwill at 3 years purchase of super profits.
(a) Return expected on capital invested 16%
(b) Remuneration of partners services 24,000 p.a.
(¢) Total assets of the firm £10,00,000; Current liabilities 1,50,000
(d) Profits for past 3 years ¥1,50,000, ¥1,25,000, ¥1,75,000
(e) Average profit employed in business £25,00,000.

BIOD DIBH0L 0GRS ergrey MG JoddTre §TRRRY eprtore HEIS

RIRLGLCEN Daod.

(@)  DoTeEN DeRady 16% Toud &arontne.

(b) PR VOB DYoD FBE 3D 724,000 (S058)0°R8)

(c) X)oé) Do esdew T10,00,000 e (0B edpen T1,50,000

d) KB 00 BodEYS ergres SEIT Z1,50,000, €1,25,000, €1,75,000
(€) Tgr80S’ &g Hfen BT EHHN T25,00,000.

2. Varun Co Ltd acquired an shares in Varna Co Ltd on 15t January 2018. Their balance
sheet on 31-12-2018 were as follows :

Liabilities Varun Varna Assets Varun Varna

Co Ltd Co Ltd Co Ltd Co Ltd

Share capital 25,000 15,000 Buildings 12,500 7,500
General reserve (1-1-2018) 10,000 7,500 Machinery 5,000 5,000
Profit and loss a/c 12,500 5,000 Share in Varma Ltd 25,000 -
Creditors 10,000 7,500 Stock 7,500 10,000
Debtors 5,000 9,000

Cash 2,500 3,500

57,500 35,000 57,500 35,000

On 1-1-2018 Varna Co ltd P & L a/c was showing credit balance of ¥3,000. Prepare
consolidated balance sheet.

HEH LoD OWBE, Y Lod WBES® 2018 2598 1 H BB Terooe3d SR ey
D08, T8 BovE); ) @O L/Jéé&) 2018 G020 31D BED S+ 1808 dorr Do :



ipen 5 5% 515000 5% 58

E00d E00d E00d E00d
O0&BE ARE ABE O0&BE
A 25,000 15,000 ps50015 12,500 7,500
e DGR (1-1- 10,000 7,500 g5r0meen 5,000 5,000
2018)
eSS0 e 12,500 5,000 5 £020¢" 25,000 -
POANON)
BEATTBED 10,000 7,500 x50 7,500 10,000
BENSO00 5,000 9,000
S5 B 2,500 3,500
57,500 35,000 57,500 35,000
98 Kovd ergdyy gree 1-1-2018 3,000 B&S Deg BrHEoB. J8%B eR-edpo 56
BHATED BOHOE.

3. Explain the significance of analysis of financial statements.

e85 FARARE) e &’)Téaea GBo0E); (DB DHBOIHH0.

4. Define financial reporting. Explain various types of financial reporting.

B Gabﬁgofbm DEGD0D, DD E5POR HB0HA.

5. From the following details prepare balance sheet.

Stock velocity 12 times
Opening turnover ratio 4 times
Fixed assets turnover 8 times
Gross profit 40%
Debit collection period 4 months

Creditors payment period 146 days

The gross profit was ¥1,20,000 , closing stock was ¥10,000 in excess of opening

stock. Reserves and surplus amounted to ¥40,000.

1808 J20°mroeR) GIRBTROD e -e93)e K)éé&) BOSTPEHWDADOE.



QB Jered 12780
B0T0EH0 8HHE 4360
Q0RO LBHE 83e)

é)@ 850 40%
20083100 HAT°0 PO 4 Ve
200 Y0P SPOdN 146 §aren

mc;@ ergia €1,20,000, H0R0%Y K T10,000 (D808 SKE Eo&d 0. Bestg

oBas oLy 40,000.

6. From the following information, find the value of shares by

(a) Net assets method
(b) Yield method.
Balance sheet
Liabilities Amount (%) Assets Amount (%)
8,000 shares of €10 each 80,000 Goodwill 5,000
Reserve fund 5,000 Fixed assets 50,000
Profit and loss a/c 5,000 Current assets 65,000
6% debentures 10,000
Creditors 12,500
Provision for tax 7,500
1,20,000 1,20,000

On 31-12-2018 fixed assets were valued at ¥90,000 , goodwill at ¥5,000. The net
profits for last 3 years were %5,000, ¥6,000, ¥7,500. It is general practice to

transfer 10% to general reserve. The nominal rate of return is 10%.

& BKD DHBINOE
(a)
(b)

Q8 eaX)_%e) ;’Jg@

oPa)G DR TLT® TR
@

DOVD ERH0G.

300 @)Y 3638
—o S}



9PV do (%) &0 do (%)

8,000 Freren @ e T10 80,000 x&Eaé5 5,000
Bastiog DG 5,000 2505501 50,000
[ [

&g Dy e 5,000 550% esdoen 65,000
6% GBOB 10,000
2000£3T°HOD 12,500
5iy) 5765 Ao° yea 7,500

1,20,000 1,20,000

38 : 31-12-2018 ¥ ;p)o"éc,p)e)?&) £90,000 % S08a5» H&EIS 5,000 05 devd §%§TJ°C5J.
18oesed

3 ROVBYBIHVe DEY ergsaven 5,000, 6,000, T7,500. degrdes o 10% o 2089
DAL, egees oo Bewd 10%.




(DCM 24)
ASSIGNMENT-1
M.Com. DEGREE EXAMINATION, JUNE 2022

Second Year
ACCOUNTING: ADVANCED COST AND MANAGEMENT ACCOUNTING
MAXIMUM MARKS :30

ANSWER ALL QUESTIONS
1. (a) Cost Accountant
H50%0 9308065
(b) Cost report
95050 DIBE
(¢) Costledger
0% esd
(d) By - product
€ DAY
(e) Standard costing
ReRe3E 950080

() Learning curve analysis
B8)oh B g)éaea

(g) Fixed cost
Y 90300
®

(h) Performance report
508 DIBE.

2. State different methods of allocation of cost.

3503800 Ber000) DG SEBOD BoYB.

3. Discuss the advantages and limitations of standard costing.
RS $5057°08500 FBoog); (HEBIEHrORY WBAL HSBBOD IBowdw.



(DCM 24)
ASSIGNMENT-2

M.Com. DEGREE EXAMINATION, JUNE 2022
Second Year
ACCOUNTING: ADVANCED COST AND MANAGEMENT ACCOUNTING
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. In a factory there are 3 production departments X, Y and Z and two service
departments

M and N. The following are overheads allocated to various departments.
Production Dept Rs.

X 30,000

Y 54,000

Z 38,000
Service dept

M 6,000

N 15,000

The expenses of service department allocated in the following percentages.
Departments X Y Z M N

M 35% 256% 20% - 20%
N 40% 45% - 15%

Allocate the expenses of service department to production department in repeated
distribution method.

2 sEnis 903S° X, Y, Z om0 surch d@ & dwgdooen MN ey ok bae
GEIDO0L GTRON. €5 GIIDI0EN Beroondd 850 &) (808 Do éamom.

&9)8 amgidooe S

X 30,000
Y 54,000
Z 38,000

VT G008

M 6,000
N 15,000

B D G0y PN HodED TEren (88 aRgwdng.
&31’%3530?’3,9, X Y Z M N

M 35% 25% 20% - 20%
N 40% 45% - 15%



e BIE S0DB 5L W G006 PEEV &S B0 HoDEB Do,

2. Prepare a flexible budget for the products of 90% and 100% capacity on the basis of
the following information.
Product Capacity @50% 8000 units

Raw materials Rs.100 per unit
Direct Labour Rs. 150 per unit
Direct Expenses Rs 25 per unit
Factory expenses Rs. 60,000 (40% fixed)

Administrative Expenses  Rs. 75,000(variable)
90% S08o 100% eovyore w88 eacﬁp)d 20%95 HASTEHDAOHDN. BHKOD DY DHoCRD

esprSornT

50% &eryiss 88 ady® 8000 0HreRe

P SSptes K)w"g;e» 85°.100 2.8);,0¢38
(OBsE (80 8r°. 150 2.8);0638
(OB5E PN 8. 25 2.8),0638
rsS6 8o &e. 60,000 (40% 335)
$Br0D PO &o°. 75,000(:58)

3. Explain the concept of life cycle costing analysis.
DB V| PROVOCEY &’)‘é&e’e GB0E); BP0 DHBoVOs

4. Classify budgets with examples.
0G0 GOrEens” H858oD0s.

5. From the following information given below calculate
(a) Efficiency variance
(b) Volume variance
(¢) capacity variance
(d) Calender variance
Budget  Actual

No of working days 40 54
Standard man hours per day 4,000 4,200
Total output in units 1,60,000 2,26,800

Standard overhead rate per man hour 15 paise 15 paise
&3 (808 S dod B)0v0dk.
(a) DBIY) DG

(b) DB DB



© 2585 pHGED
(d) 5°B0&5 HBeIHD

VR  TWHI0

3

RETARAON 40 54
[DeS0°E3E [8:50 Kotoew §oard 4,000 4,200
B0BI0 &YB 00IdLS’ 1,60,000  2,26,800

[BPO0E Koo |e0oeeds 898 Wr&den 15 pdew 15 pen

Q-

6. The balance in a company WIP control account as on 31t March 2018 was Rs.
15,00,000. During the following month, the transactions that took place were as

thus.
Rs.
Direct wages incurred 75,000
Completed work billed at cost  5,50,000
Direct materials issued 3,00,000
Factory overhead 2,00,000
Special purchases for job 20,000
Sub contract Expenses 16,000
Direct Expenses 12,000
material returned 6,000

You are required to write up the ledger account and state. What is final balance
represents cost book.

31.3.2018 % BABS® &x) 3D doLowes IS’ v, 15,00,000 HEI8 S

R0gIN0DD seEgETe0 1808 o GO0,

&,

2003 (5BgE Dswren 75,000
HFON00 ST DY IADVEN J°8 020N D 5,50,000
&8 9000 (S8, ESTTen 3,00,000
rgS0 58°5 H50sen 2,00,000
& §°0 (HBgEor SRR 20,000

&3 sPoer§ Tfen 16,000



[?Jééé EﬁéOii)"’OJ 12,000
58 TPHR0 DR DodITETren 6,000
© %

208 DT LTS R BT DY, TR DS’ &0t WoRo) degn HE7),H0k.




(DCM 25)
ASSIGNMENT-1
M.Com. DEGREE EXAMINATION, JUNE 2022

Second Year
ACCOUNTING : TAXATION
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. (a) Give examples of partly agricultural and partly non-agricultural incomes.

88 03 o8akn 88 ‘bgbavdcbéd TPV éw"ﬁ"de’sm&m&

(b) Basic two conditions for determining residential status of an individual.
;ség DD ($YSY X)gsde'ego 0200800 0I°0 DOFHOR B0&0EID BeY)DW.

(¢) Classification of assets for computation of capital gains.
bechao& ergren 88),09HH 2O DEes Eseen.

(d) Deductions under section 80D for payment of medical insurance premium.
D5 o L;%mosgm BY0HE HBowW &S 80D BRoHeo.

(e) Income tax authority.
e3T3°0% 0“3:6301 9Q5°E0e0.

( Indian company and foreign company — meaning.

RGR SoBas0 DB KoD — P

(g) Explain about right to claim refund and who can claim refund.
8508 20t oK), 2B D H589e0 BI0E oo FroREE.

2. Explain the meaning of agricultural income and give examples of agricultural, non-
agricultural incomes.

JgIRAD ST ADN @gm 0BaD0 HgdRrasd, 26526@0633@6 (EIALeVORIGEY) ém"!ﬁdes@m&

3. How do you compute taxable amount of HRA and education allowance.

JY 3620%526@%?6 Q063 &R g5&H500 HBASL ey FBgI0 K8y HIB0Y)HI0.



(DCM 25)
ASSIGNMENT-2

M.Com. DEGREE EXAMINATION, JUNE 2022
Second Year
ACCOUNTING : TAXATION
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. Following are the incomes of Mr. Simhadri for the financial year 2017-18. Compute
his gross total income if he is

(a) Resident
(b) Not ordinarily resident and

(¢) Non-resident.

(1) Income from house property in USA ¥ 2,50,000

(i) Dividend declared in Paris but received in India T 46,000

(111) Income from long term capital asset transfered in India ¥ 5,00,000
(iv) Share of income from a firm ¥ 2,50,000

(v) Income accrued in Bangalore but received in Singapore ¥ 1,70,000

(vi) A gift from his parents received T 1,00,000

(vil) Profits earned from a business in UK which was controlled from India
¥ 3,00,000

(viil) Salary received in India for services rendered in USA ¥ 4,20,000

(ix) Income from agriculture in Australia ¥ 2,50,000.

2017-18 D0DHBINIL BHOD IS0 ok D0FHA B0E); o eTEaHdW
B8);0:9)0. B I (V8IY

(@) peSes QTR
(b)  Dpe8es TP P HHBALL
© T TR 9D FPAOWIWY.
() B’ DRy MyDR) od esmravdw T 2,50,000

(i) B0S° 350 DD EIT0E grEdBEoS” HgEBODH. & Dodsn T 46,000



(iii)

5,00,000
@iv)
)
(vi)
(vii)
3,00,000

FEEB50S° BEIE D w8 DALRYP 208R BSOS orgn T

g IfRng05 905 008 BroBR Trereressn T 2,50,000
BoKETEHES® e3TaDHHN 2°D0D DoKIBES® 0898 T 1,70,000
B0 K08 AFEBODD wTuBd T 1,00,000

grEBRB0Y doo@odad UK 656?53?501 TR0 ol o8 ergHn I

(viii) USA &° 200 ad)90&5Hies grsstisos® AggBoad sn T 4,20,000

(ix)

&5 ROTS® 31 B59RA0 0& =08 esTrabiso T 2,50,000,

2. Mr. Vasanth Kumar is working as a lecturer in a Government Degree College. He
furnished the following particular of his income for the year ended March, 31st,
2019. Calculate his total Taxable Income.

Basic Salary ¥ 8,60,000

Dearness allowance is 40% of basic salary

Fixed medical allowance received ¥ 1,000 per month.
Entertainment allowance received ¥ 9,000

Education allowance received for his two children ¥ 4,000
Professional tax paid by Vasanth Kumar ¥ 2,500

Employee’s contribution to RPF ¥ 60,000 and the same amount was

contributed
Mr. Vasanth Kumar to RPF.

¥ 26,000

Interest n RPF @ 13% pa was credited to his account which amounts to

LIP paid on the life of his spouse ¥ 60,000

Amount deposited in National saving scheme ¥ 30,000
Amount paid under Mediclaim ¥ 14,000

Amount Donated to CM cyclone relief fund ¥ 25,000
Amount deposited in Public Provident Fund ¥ 50,000

5530065 GIR BT’ pegsIdT &) @ D308 KH37°5 B0 a0 HHEHW Hod 31

3078 2019. 7°¢38 9B 570D BE);0:)I0.

Sooee 28500 T 8,60,000

50D 858500 DorefHoS® 40 FEH0

R5EBODD R 5 F50 30 T 1,000.



AgEBODD DS edgn T 9,000
Ry B AP DYOKH AFEBoDD dRg 8B T 4,000
$308%83°5 390 B By T 2,500

1080 208D 2595y PGS ADENd DYodHB T 60,000 B &R
39008 T 60,000.

fbgoo“g) 08D 2;53)5)5 288 Q0HEYBoXE 13 TBIW éé e WP B0
000 3G 2008500

¥ 26,000
DD G DD DY0DD BB PHHT (DLW T 60,000

2AAH DIOR VY,S0S® 23D DB T 30,000
D0E30000 (808 BP0 Do T 14,000
000 PET® BIADH VHE 3Yodd doeEHn T 25,000

[SERATONY QB8 2550 DD @[ 50,000

SECTION C — (2 x 15 = 30 marks)
Answer any TWO questions.

3. Write about deductions U/S 80 G of IT Act in respect of Donations to approved funds.
VES 80 G esmrod $Shy Do (ISEIN doEHwen T8 Sowofs BRode K8
DHBoHAN.

4. Explain the powers and duties of Income Tax Commissioner (Appeals).

eST0%H 530y EB0KRE (@inGy) Baok), DE1ed 208050 @f5eE5e BeXyED.
oAl AN i Y

5. Mr. Someswar furnished the following particulars of his income for the year ended
31st March, 2018. Compute his total income for the assessment year 2019-2020.

T
Basic salary 3,30,000
Dearness allowance 1,10,000
Special allowance 18,000

Childrens education allowance received for his two children 12,000

Employer’s contribution to RPF 50,000



Employee’s contribution to RPF 50,000

Professional tax paid by employee 2,500
LIP paid 48,000
NSC VIII issue were acquired for 30,000
Income from let out house property 3,60,000
Municipal taxes paid for his house 32,000
Interest on loan taken for purchase of a car 24,000
Royalty received for publication of an article in a magazine 40,000
Interest on securities received 14,000

Paid ¥ 14,000 towards medical insurance premium
Donated ¥ 40,000 to national defence fund

Mr. %0355 31 95°8), 2018 &° @083 505808 B emedh dHTew (808 Do
SdoGyowred. 2019-2020 SRy :()g;de'e 3058)o°0E 9B J0BO esteaIITR) B);0HI.

S
Sooe WD 3,30,000
5% 858590 1,10,000
BEEALII 18,000
&SR B YD YL 08 Ty eI 12,000

0803 208 #5258 AN DYoVHE 50,000

0B &&°R DY0dDHB 50,000
&ESR DY0DD 9B JdY 2,500
BDBHHT HAADH0 30D 48,000

&0 w20R SErew NSC VIIL a8 Deyerd 30,000
D8NS )R $o0d esTToHHN 3,60,000

290D HAISS 53y 32,000



5o §TR0R 00 DB OB B0 N 24,000

[

DHBNS® 5G5S (50088950 708D 40,000
&8l DG Tl 14,000
Dess DA (D0 D0 14,000
A S5g0 VQE DYV Ho°To D 40,000

6. Profit and loss account of a firm which satisfies all conditions of sections 184 for the
year ended March 31, 2017 is as follows:

T T

Cost of goods sold 60,60,000 Sales 94,00,000
Remuneration to partners Rent of house property 3,60,000
A 12,00,000 Interest on debentures 80,000
B 10,00,000 Long term capital gain 3,00,000
C 8,00,000
Income tax 2,40,000
Interest to partners @ 14%
A 1,40,000
B 1, 54,000
C 1,12,000
Other expenses 2,74,000
Net profit 1,60,000

1,01,40,000 1,01,40,000

Other information: Other expenses include ¥ 1,50,000 is not reasonable. Calculate
net income of the firm.

S8y 31, 2017 eaoé‘mdioé K)ozééé\)c"(‘()g 184 ?\)§\5 (K580 8D wﬁavog‘mé X)oé) s :6%’0
T 5006 OEY ergfy B8)09)dw.

Z Z
D SO ewd 60,60,000  essyseens 94,00,000
IS0 BE I H)D8R) 2008 esToHHN 3,60,000
A 12,00,000  &Bovsr 5& 80,000
™Mo G

B 10,00,000 8505 Degod oo 300,000



T T
C 8,00,000

e3T°0% DAY 2,40,000

PO DERNEOD @ 14 TEHD 36

A 1,40,000
B 1, 54,000
C 1,12,000
ABS &)5{)@0 2,74,000
DEY ereo 1,60,000
1,01,40,000 1,01,40,000

S SETTEB0: ABE PENOS® T1,50,00000 FOR &ie0506 PENOL TS PEYT
900D 0NV,




